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B.Com. (Part1y) EXAMINATION, 2023

No Supplementary answer-book will be given o any capdidate. Henoe the condidate showld write The SREESE S
precisely in the main answer-book only.
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Al the parts of one question should be answered at one place in the answer-book. One complete question. should
not be answered at different places in the answer-book.
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Attempt any five questions, selecting one question from each unit. All questions carry equal marks
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/ UNIT -1/5&T§ -1
Define ‘Financial Management’ in your own words. Suppose you are CFO of a company and you want .
to explain the roles and different decision taken by finance manager to a newly joined fresher on this

profile. What will you explain ?
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UNIT -1L/3%t§ _ 11 :
the following balance sheet of Mr. Arvind Industrieg Ltd., as 31%¢ March 2022, calculate following
3. Fromthe
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-t:) Short-term solvency rat.IOS
i () Long-term solvency ratios
t © Activity Ratl%i .
d)  Profitability Ratios : ; A
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\ mbmtie. : i Al _Rs. Assets Rs.
Equity Share Capital ’ 0,000|Fixed assets (less depreciation Rs, 26,000
‘ 10,000) -
7% Preference Share Capital 2,000
Reserves and Surplus 8,000|Current Assets :
6% Mortgage Debentures 14,000 Cash 1,000
Current Liabilities - ~ Investments (10%) 3,000
Creditors - 1,200 Sundry debtors 4,000
Bills payable 2,000 Stock 6,000
Outstanding expenses 200
Tax Provision 2,600
40,000/ 40,000
Other information :

() Net sales Rs. 60,000
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8.  Following information forecag 022.
CS Ltd. BR 31 7 2022 Fofry a4 £ CS L. oy . ended 31
. T e i %Qﬁqwfhe%gl
st
Particulars Balang, % iy : m
= Q8o 1f h 2022
Work-in-progress :i' ol 51‘ 300
: ,000 ’
Dfﬁb'tors 1,12,195 1,35,000
Finished goods 60’1 70,175
A 1181 '
Creditors 50,079 70,469
Annual purchase of Ray Materia] ’
(ALl Credit) 4,00,000
Annual cogt of production 7, 50,000
Annual cost of goods sold 9,15,000
Annual operating cogt 9,50,000

Annual saleg (All Credit)
One Year

Required to calculate -
(@  Net Operating cycle period

(b) umber of operating cycles in a year
©  Amountof workin
O Y

@ 2 ST w5 arafiy

b TF 7 ¥ vftarer =i 7 ven
© v FRivie g w5 i

~ UNIT-V/3&FE -V
e - The earnings per share of a company are Rs. 80 and the rate of capitalization applicable to the company

18 12%. The company has before it an option of adopting a payment ratio of 25% (or) 50% (or) 75%.
Using Walter’s formula of dividend

pay-out, compute the market value of the company’s share of the
productivity of retained earnings (i) 12%, (ii) 8%, (iii) 5%.
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10. ~ From the following informaﬁon, calculate the net present value of the two project and suggest which of 20
/ the two projects should be accepted a discount rate of the two,
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ProjectX Project Y
Initial Investment Rs. 20,000 Rs. 30,000
Estimated Life 5 Years 5 Years
Scrap Value Rs. 1,000 Rs. 2,000
The profits before depreciation and after taxation (cash flows) are as follows :
FAYA & Jd 991 FAUH F WA (IHE YE) A T TEE -
Year 1| Year 2 Year 3 Year 4 Year 5
Rs. Rs. Rs. Rs. Rs.
Project X 5,000 10,000 | 10,000 | 3,000 2,000
Project Y 20,000 10,000 5,000 3,000 2,000
Note : The following are the present value factors @ 10% p.a.
10% Wfd = &1 2t | Td9H e Vi 76w
Year | 1 2 3 4 5 6
Factor | 0.909 | 0.826 | 0.751 | 0.683 | 0,621 0.564
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